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Five weeks ago I wrote an article highlighting ‘undevelopment’, a theme I shall again pursue today. This week the problem is from actual play as distinct from being composed: Dzindzichashvili – Sakharov (USSR 1957) – White to play (3 moves):
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Wilhelm Steinitz, World Champion 1866-94, many of whose ideas were met with bewilderment and even ridicule, was the first to employ the idea of ‘strategic undevelopment’.  The game below shows Steinitz putting this concept into practice against his great rival and successor Emanuel Lasker (note Black moves 13, 14, 15, 17, 21):

E. LASKER  -  W. STEINITZ

Hastings 1895

Ruy Lopez: Steinitz Defence Deferred 

1.e4 
    e5 

2.Nf3  
    Nc6

3.Bb5
    a6 

4.Ba4 
    d6

5. 0-0 
    Ne7 

6.c3
    Bd7

7.d4 
    Ng6 

8.Re1 
    Be7

9.Nbd2    0-0 

10.Nf1     Qe8(a)
11.Bc2     Kh8 
12.Ng3     Bg4
13.d5
     Nb8 
14.h3
     Bc8

15.Nf5      Bd8 
16.g4
     Ne7

17.Ng3     Ng8(b) 
18.Kg2     Nd7

19.Be3      Nb6 
20.b3
     Bd7

21.c4 
     Nc8 
22.Qd2      Nce7

23.c5 
     g6 

24.Qc3      f5(c)
25.Nxe5!  dxe5 
26.Qxe5+  Nf6
27.Bd4(d) fxg4 
28.hxg4     Bxg4

29.Qg5      Qd7 
30.Bxf6+   Kg8

31.Bd1      Bh3+ 
32.Kg1      Nxd5!?(e)
33.Bxd8    Nf4 
34.Bf6       Qd2

35.Re2!(f) Nxe2+ 
36.Bxe2     Qd7

37.Rd1      Qf7 
38.Bc4       Be6

39.e5 
      Bxc4 
40.Nf5!     resigns

a) Gunsburg suggested the following line before White plays Ng3: 10…exd 11.cxd b5 12.Bc2 Nb4 13.Bb3 c5 14.d5 c4 15.Bc2 Nxc2 16.Qxc2 f5.  However it goes against the grain for Steinitz, a firm advocate of holding the centre (strongpoint defence), to exchange off his e pawn. The text threatens 11…Nxd5!
b) Steinitz has completed his undevelopment!

c) Having enticed White to advance d5 Black makes the appropriate counter.  However Steinitz admitted he should first play 24…h6 to give his king some ‘elbow room’.

d) Not 27.g5? Nxd5!

e) 32…h6 is almost certainly a better move but this counter sacrifice looks most promising.

f) The only move to avoid loss and secure the win.

SOLUTION: 1.Bxf1 (other captures allow 1…a6!) 1…bxc6 2.Bc1 (the knight b2 is trapped) 2…Ba3 (2…Rb8 3.Rb1 Ba3 4.Nd1) 3.Nb1 winning the piece.

